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Bweek2_local_ta_normalYear>1.9</week2_local_ta_normalYear> 2FK XY 7| A,
Bweek2_local_ta_similarRange>+1.1</week2_local_ta_similarRange> 2FX XY 7|2 WEd| -
HBweek2_local_ta_minVal>20</week2_local_ta_minVal> 25K XY 7|2 oE EE(HS)
Bweek2_local_ta_similarVal>40</week2_local_ta_similarVal> 2FX XY 7|12 o2 &EH=)
Hweek2_local_ta_maxVal>40</week2_local_ta_maxVal> 2FA XY 7|2 O SE(ES)
H/week_local_ta> 2FK XY 7| 2% EfASE
Hweek_local_ta> 3FX} XY 7|2 M Ef IA|IF
Bweek3_local_ta_normalYear>2.5</week3_local_ta_normalYear> 3FA XY 7| HAZE
Hweek3_local_ta_similarRange> +1.3</week3_local_ta_similarRange> 3FAF XY 7|2 WEd|=He
Bweek3_local_ta_minVal>20</week3_local_ta_minVal> 3FA XY 7|2 o2 EERE)
Hweek3_local_ta_similarVal>40</week3_local_ta_similarVal> 3FX XY 7|2 ol EEHX)
Bweek3_local_ta_maxVal>40</week3_local_ta_maxVal> 3FA XY 7|2 OE EE(ER)
B/week_local_ta> 3FA XY J|28Y EfAEE
Bweek_local_ta> AFKE K|S 7| 2™ Y Ef AR
Bweek4_local_ta_normalYear>3.6</week4_local_ta_normalYear> AFK XY 7|2 HAZE
HBweek4_local_ta_similarRange> +1.0</week4_local_ta_similarRange> AZK XY 7|2 HUEH|=HQ
Bweek4_local_ta_minVal>20</week4_local_ta_minVal> AKX Y 7|2 Ol BE(RS)
Hweek4_local_ta_similarVal>40</week4_local_ta_similarVal> AZX}F XY 7| O ZE(H|Z)
Hweek4_local_ta_maxVal>40</week4_local_ta_maxVal> AFX} XY 7|2 02 SE(ESD)
B/week_local_ta> AFX XY 7| 20Y EfIAF s
B/local_ta> Z12TY XY elass
Blocal_ta> 7| K| Ef LA
Hlocal_ta_name> <![CDATA[ £ At « 4k« AAY T 1]></local_ta_name> Jledad X9 g
Hweek_local_ta> 1A XY 7| 283 Ef AR
HBweek1_local_ta_normalYear>2.7</week1_local_ta_normalYear> 1A XY 7|2 HEgt
Bweek1_local_ta_similarRange>+1.0</weekl_local_ta_similarRange> 1FX XY 7|2 WEd|=HQ|
Bweek1_local_ta_minVal>30</weekl_local_ta_minVal> 1A XY 7|12 OB S E(RS)
HBweekl_local_ta_similarVal>50</weekl_local_ta_similarVal> 1=K} XY 7|12 0|2 =HE(H|=x)
Bweekl_local_ta_maxVal>20</weekl_local_ta_maxVal> 1A XY 7|12 OB & E(E2)
H/week_local_ta> 1FX XY 7| 2 Ef 152
Bweek_local_ta> 2K X9 7|2 Y Ef A=
Bweek2_local_ta_normalYear>3.2</week2_local_ta_normalYear> 2FK} XY 7|2 A
Hweek2_local_ta_similarRange> +0.9</week2_local_ta_similarRange> 2FX X9 7|2 Ed| ="
Bweek2_local_ta_minVal>20</week2_|local_ta_minVal> 2F KXY 7|2 o2 EEHD)
Hweek2_local_ta_similarVal>40</week2_local_ta_similarVal> 2ZF K XY 7|2 o2 2HEH[%)
Bweek2_local_ta_maxVal>40</week2_local_ta_maxVal> 2FX XY 7|12 o8 SHEE2)




B/week_local_ta> 2FEA XY 7| 2TY OB R
Bweek_local_ta> 3FX XY 7| 2F Y Ef AR
Bweek3_local_ta_normalYear>3.8</week3_local_ta_normalYear> 3FA XY 7| WA
Hweek3_local_ta_similarRange> +1.1</week3_local_ta_similarRange> 3FX XY 7|2 HEH|=HQ|
HBweek3_local_ta_minVal>20</week3_local_ta_minVal> 3FA XY 7R 02 SHERS)
Bweek3_local_ta_similarVal>30</week3_local_ta_similarVal> 3FAF XY 7|2 Ol EEH|X)
Hweek3_local_ta_maxVal>50</week3_local_ta_maxVal> 3FA XY 7R 02 SHE(ESD)
B/week_local_ta> 3FX XY 7|2 AT
Bweek_local_ta> AFX XY 7|2 Ef AR
Bweek4_local_ta_normalYear>4.9</week4_local_ta_normalYear> AZK XY 7|2 Wk
Bweek4_local_ta_similarRange>+0.8</week4_local_ta_similarRange> AFK XY 7|2 HiEd| ==
Bweek4_local_ta_minVal>20</week4_local_ta_minVal> AFK}F XY 7|2 O|E SE(RE)
Bweek4_local_ta_similarVal>50</week4_local_ta_similarVal> AFK XY 7|2 0|2 ZE(H[)
Bweek4_local_ta_maxVal>30</week4_local_ta_maxVal> 4K XY 7|2 0|2 HE(ES)
B/week_local_ta> AFK XY 7|2 ElOBE
B/local_ta> Z12TY XY elazs
Blocal_ta> 7| 2de X9 EfTAIE
Hlocal_ta_name> <![CDATA[ Ci+ « A2 & ]]></local_ta_name> 7| 2™ X9 ¥
Hweek_local_ta> 1FX}F XY 7| Mk Ej TA|E
Bweek1_local_ta_normalYear>1.3</week1_|local_ta_normalYear> 1A XY 7|2 HAZE
Bweekl_local_ta_similarRange>+1.1</weekl_local_ta_similarRange> 1K XY 7| "Ed|=de|
HBweekl_local_ta_minVal>30</weekl_local_ta_minVal> 1=K XY 7|12 OB S E(RS)
Bweek1_local_ta_similarVal>50</weekl_local_ta_similarVal> 1K} XY 7|12 0|2 EHEH|=x)
Bweek1_local_ta_maxVal>20</weekl_local_ta_maxVal> 1FX XY 7|12 o2 SE(ES)
B/week_local_ta> 1A XY 7| 28L A3 E
Hweek_local_ta> 2FKF K| 7|20k Ef AR}
Bweek2_local_ta_normalYear>2.0</week2_local_ta_normalYear> 2FX XY 7| WHgt
Hweek2_local_ta_similarRange> +1.0</week2_|local_ta_similarRange> 2FA XY 7|2 HEd| ||
Bweek2_local_ta_minVal>20</week2_local_ta_minVal> 2FX XY 7|12 oe EHEES)
Hweek2_local_ta_similarVal>40</week2_local_ta_similarVal> 2K XY 7|2 o2 2EH[x)
Bweek2_local_ta_maxVal>40</week2_local_ta_maxVal> 2FX XY 7|12 o8 EHEE2)
B/week_local_ta> 2FEA XY 7| 2TY OB R
Bweek_local_ta> 3FA K| 7| 26D Ef A F
Bweek3_local_ta_normalYear>2.7</week3_local_ta_normalYear> 3FX XY 7|2 WAk
HBweek3_local_ta_similarRange> +1.1</week3_local_ta_similarRange> 3FA XY 7|2 WEdH|=H
Bweek3_local_ta_minVal>20</week3_local_ta_minVal> 3FX XY 7|2 o SERS)
Hweek3_local_ta_similarVal>40</week3_local_ta_similarVal> 3FEX XY 7|2 0|2 SEH|Z)
Hweek3_local_ta_maxVal>40</week3_local_ta_maxVal> 3T XY 7|2 02 SE(ES)
B/week_local_ta> 3FA XY 7| 2HL EfABE
Bweek_local_ta> AFEX XY 7|2 Ef AR
Bweek4_local_ta_normalYear>3.8</week4_local_ta_normalYear> AZK XY 7|2 Wk
Hweek4_local_ta_similarRange> +0.9</week4_|ocal_ta_similarRange> AFK XY 7|2 HEd| ="
Bweek4_local_ta_minVal>20</week4_local_ta_minVal> AZFX}F XY 7| O SE(RE)
Bweek4_local_ta_similarVal>50</week4_local_ta_similarVal> AFK XY 7|2 0|2 ZE(H[)
Bweek4_local_ta_maxVal>30</week4_local_ta_maxVal> AZK XY 7|2 0|2 SHE(=S)
B/week_local_ta> 4Kt XY 7| 2MY Ef OB R
B/local_ta> Jl28Y XY A3 s
Blocal_ta> 712 XY EfA|E
Hlocal_ta_name> <![CDATA[ M|F = ]]> </local_ta_name> Jleda X9 g
Bweek_local_ta> 1F:X XY 7|2 B aA
Bweek1_local_ta_normalYear>7.2</weekl_local_ta_normalYear> 1FX XY 7|2 gy
Hweekl_local_ta_similarRange> +0.9</weekl_local_ta_similarRange> 1A XY 7|2 HEd|=He

Bweek1_local_ta_minVal>30</week1_local_ta_minVal>




Bweek1_local_ta_similarVal>50</weekl_local_ta_similarVal>

1FA XY 7|2 o2 2HEHR)

Bweekl_local_ta_maxVal>20</weekl_local_ta_maxVal>

1EX XY 7|2 o2 2HE(ES)

B/week_local_ta>

1F5 XY 7| =23Y Ela5E

Bweek_local_ta>

275} K| 7| @HE EjIAE

Bweek?2_local_ta_normalYear>7.5</week2_local_ta_normalYear>

2FA XY 7|2 HEY

[

Hweek2_local_ta_similarRange> +1.0</week2_local_ta_similarRange>

273 X9 712 BblLEs|

Bweek?2_local_ta_minVal>20</week2_local_ta_minVal>

2FA XY 7|2 o8 HEHS)

Bweek2_local_ta_similarVal>40</week2_local_ta_similarVal> 2FX XY 7|12 o EEH|Z)
Hweek?2_local_ta_maxVal>40</week2_local_ta_maxVal> 2% XY 7|2 ol SHEESD)
H/week_local_ta> 2K XY 7| MY Ef OSSR
Hweek_local_ta> 3FAF XY 7| Mk Ej IA|E

Bweek3_local_ta_normalYear>7.8</week3_local_ta_normalYear>

3FA R 7|2 BEg

=

Hweek3_local_ta_similarRange>+1.1</week3_local_ta_similarRange>

3 K|S 7|2 Huu|LHe]

Bweek3_local_ta_minVal>20</week3_local_ta_minVal>

3ER XY 7|2 o2 HERS)

Bweek3_local_ta_similarVal>40</week3_local_ta_similarVal>

3FEA XY 7|2 o2 =HEHR)

Hweek3_local_ta_maxVal>40</week3_local_ta_maxVal>

3FEXN XY 7|2 O|2 2HE(ES)

B/week_local_ta> EES N[ IRl I =
Hweek_local_ta> 4Z=R} XY 7|2 T Ef IA|E

Bweek4_local_ta_normalYear>8.4</week4_local_ta_normalYear>

AZXL XY 7|2 Bt

=

Hweek4_local_ta_similarRange>+0.9</week4_local_ta_similarRange>

%R} K|S 712 BEs|2H9

=

Bweek4_local_ta_minVal>20</week4_local_ta_minVal>

AZFXL XY 72 OB HE(RE)

Bweek4_local_ta_similarVal>50</week4_local_ta_similarVal>

AZXL XY 712 o2 SEHIR)

Bweek4_local_ta_maxVal>30</week4_local_ta_maxVal>

AFAL XY 72 OB SHE(ES)

H/week_local_ta>

AFR XY 7|2 WY HIBR

B/local_ta> 7123Y X9 ef2F
Hlocal_ta> Jl@FMA XY EfIA|E
Hlocal_ta_name> <![CDATA[ WOt E = - Z8[ = ]]> </local_ta_name> Jleda X9 o
Hweek_local_ta> 1A XY 7|28 EfIA|E
Bweek1_local_ta_normalYear>-4.2</weekl_local_ta_normalYear> 1FX XY 7|2 W gr
Hweekl_local_ta_similarRange> +1.1</weekl_local_ta_similarRange> 1FX XY 7|2 HEd|=HQ|
Bweek1_local_ta_minVal>50</week1_local_ta_minVal> 1A XY 7|2 0|2 & (HS)
Bweek1_local_ta_similarVal>30</weekl_local_ta_similarVal> 1FX XY 7|2 o2 SEH|=x)
Bweek1_local_ta_maxVal>20</weekl_local_ta_maxVal> 1K} XY 7|12 OB EE(ES)
B/week_local_ta> 1A XY 7| 28Y A8 s
Bweek_local_ta> 2FA XY 7|2 Y Ef AR
Bweek2_local_ta_normalYear>-3.0</week2_local_ta_normalYear> 2F X XY 7|2 WHgt
HBweek2_local_ta_similarRange> +1.2</week2_local_ta_similarRange> 2F KXY 7|2 HUEd| |/
Bweek?2_local_ta_minVal>30</week2_local_ta_minVal> 2FA XY 7|12 o2 SERS)
Hweek2_local_ta_similarVal>50</week2_local_ta_similarVal> 2R XY 7|2 o2 =HEH|X)
Bweek2_local_ta_maxVal>20</week2_local_ta_maxVal> 2K XY 7|2 02 SEES)
H/week_local_ta> 2FK XY 7|28 EfAS
Bweek_local_ta> 3FEX XY 7|2 B A
Bweek3_local_ta_normalYear>-1.9</week3_local_ta_normalYear> 3FX XY 7|2 WAk
Hweek3_local_ta_similarRange> +1.2</week3_local_ta_similarRange> 3T XY 7|2 HEH|=HQ
Bweek3_local_ta_minVal>20</week3_local_ta_minVal> 3FAF XY 7|2 O EE(RE)
Hweek3_local_ta_similarVal>50</week3_local_ta_similarVal> 3FX XY 7|2 o5 EEHZ)
Bweek3_local_ta_maxVal>30</week3_local_ta_maxVal> 3FA XY 7|2 O EE(ER)
B/week_local_ta> 3FEX XY 7|2 Y AT E
Bweek_local_ta> AFX XY 7| 2FY EfIAIR
Hweek4_local_ta_normalYear>-0.6</week4_local_ta_normalYear> AF X XY 7|2 HEgt
HBweek4_local_ta_similarRange>+0.9</week4_local_ta_similarRange> AZK XY 7|12 HEH|=HQ
Bweek4_local_ta_minVal>40</week4_local_ta_minVal> AFK XY 7|2 Ol 2 EE(RS)
HBweek4_local_ta_similarVal>40</week4_local_ta_similarVal> AZK XY 7|2 o2 SHEH|)




Bweek4_local_ta_maxVal>20</week4_local_ta_maxVal> XY 7|12 o2 SHEES
B/week_local_ta> X XY 72Xy EjASR
B/local_ta> A XY A=
Hlocal_ta> 7™ XY Ef AR
Hlocal_ta_name> <![CDATA[ &t AL & 1> </local_ta_name> Jl2da X9 ¥
Bweek_local_ta> 1FX XY 7|23 Ef AR
Bweek1_local_ta_normalYear>-2.9</weekl_local_ta_normalYear> 1FA XY 7| HAZE
Hweek1_local_ta_similarRange>+0.9</weekl_local_ta_similarRange> 1FX XY 7|2 Ed|=HQ|
Bweek1_local_ta_minVal>50</weekl_local_ta_minVal> 1K XY 7|12 o2 SE(HS)
Bweekl_local_ta_similarVal>30</weekl_local_ta_similarVal> 1=K} XY 7|12 0|2 SHEH|x)
Hweek1_local_ta_maxVal>20</week1_local_ta_maxVal> 1A XY 7|2 02 SE(ESD)
B/week_local_ta> 1FEX XY 7| A Ef 152
Bweek_local_ta> 23K XD 7|2 Y Ef AR
Bweek2_local_ta_normalYear>-2.4</week2_local_ta_normalYear> 2FK XY 7| A,
Bweek2_local_ta_similarRange>+1.0</week2_local_ta_similarRange> 2FX XY 7|2 WEd| -
Bweek2_local_ta_minVal>30</week2_local_ta_minVal> 2%} XY 7| Ol EE(RS)
Bweek2_local_ta_similarVal>50</week2_local_ta_similarVal> 2FX XY 7|12 o &EH=)
Bweek?2_local_ta_maxVal>20</week2_local_ta_maxVal> 2FK XY 7|12 o2 ESE(ES
H/week_local_ta> 2FX XY 7|1 2dY EjlOs 7
Hweek_local_ta> 3FX} XY 7|2 M Ef IA|F
Bweek3_local_ta_normalYear>-1.4</week3_local_ta_normalYear> 3FA XY 7| HAZE
Hweek3_local_ta_similarRange> +0.8 < /week3_local_ta_similarRange> 3FAF XY 7|2 HEd|=He
Bweek3_local_ta_minVal>20</week3_local_ta_minVal> 3FA XY 7|2 O ESERE)
Hweek3_local_ta_similarVal>50</week3_local_ta_similarVal> 3FX XY 7|2 o= EEHX)
Bweek3_local_ta_maxVal>30</week3_local_ta_maxVal> 3FA XY 7|2 R EE(ER)
B/week_local_ta> 3FA XY J|28Y EjlAEE
Bweek_local_ta> 4K} XY 7|2 T Ef AR
Bweek4_local_ta_normalYear>-0.3</week4_local_ta_normalYear> AZ=K XY 7|2 WAk
HBweek4_local_ta_similarRange> +0.8</week4_local_ta_similarRange> AZK XY 7|2 HUEH|=HQ
Bweek4_local_ta_minVal>40</week4_local_ta_minVal> AZTK}F XY 7|2 Ol BE(HE)
Hweek4_local_ta_similarVal>40</week4_local_ta_similarVal> AZFX}F XY 7| O =E(H|Z)
Bweek4_local_ta_maxVal>20</week4_local_ta_maxVal> 4Kt XY 7|2 02 SHE(ES)
B/week_local_ta> AFX XY 7| 20Y EflAs s
B/local_ta> Y XY Az =
B/onemonth_ta_forecast> X 4% 7|2 MY O B=
Bonemonth_rn_forecast> XY 4% 24 Y |3 AR
Hlocal_rn> M XY EfA|E
Blocal_rn_name> <![CDATA[ M Z(H|F ., 23X 2]) 11> </local_rn_name> Zada X g
Hweek_local_rn> 13X K|S 2= Ef AR
Bweek1_local_rn_normalYear>9.1</week1_local_rn_normalYear> 1K XY 2 HAZE
Hweek1_local_rn_similarRange> +55</week1_local_rn_similarRange> 1FX XY 2 Ed| ="
Bweekl_local_rn_minVal>40</weekl_local_rn_minVal> 1A XY 2 o2 SE(H )
Bweek1_local_rn_similarVal>40</week1_local_rn_similarVal> 1K} XY 244 0|2 =EH|x)
Bweek1_local_rn_maxVal>20</weekl_local_rn_maxVal> 1A XS 24 02 SHE(HS)
B/week_local_rn> 1=K} XY MY A=
HBweek_local_rn> 2K K| 2= ak Ef AR
Bweek2_local_rn_normalYear>10.7 </week2_local_rn_normalYear> 2FK}F XS A A
HBweek2_local_rn_similarRange>+35</week2_local_rn_similarRange> 2F K K|S 24 HEdH| -
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FK XY 24 o2 EHEEE
Bweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2K XY 24 o2 SHEH[
Bweek2_local_rn_maxVal>20</week2_|local_rn_maxVal> 2K XY 24 o2 EERS
H/week_local_rn> 2K XY 24 Y AT E
Bweek_local_rn> 3K} XY Ak Ef AR




Bweek3_local_rn_normalYear>11.9</week3_local_rn_normalYear> 3FA XY A HAZE
Hweek3_local_rn_similarRange>+55 </week3_local_rn_similarRange> 3FX XY 24 WEH|=HQ
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 24 oy SEEL)
Bweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FAF XY A Ol SEH|R)
Bweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FAF XY A O SERS)
B/week_local_rn> 3FEA XY A=Y A3
Bweek_local_rn> 4Kt K| By EfAE
Bweek4_local_rn_normalYear>13.2</week4_local_rn_normalYear> AZT=K K|S 24 WA
Bweek4_local_rn_similarRange> +45</week4_local_rn_similarRange> AFK K|S 24 HEdH|—H Q|
HBweek4_local_rn_minVal>30</week4_local_rn_minVal> AFX} XS A 02 ZSEHS)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> A=K XY 24 O 2 EHEH|)
Hweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFX XS L5 02 Z2E(RS)
B/week_local_rn> 4Kt XY Z-NMY OB R
B/local_rn> dedY XY A3 E
Blocal_rm> Z=HY X Ef IAIE
Rlocal_rn_name> <![CDATA[ A|& - QI « ZA7| = ]]></local_rn_name> 2 XY g
Bweek_local_rn> 1% XY Z=HY Ef AR
Bweek1_local_rn_normalYear>6.2</week1_local_rn_normalYear> 1A XY 2 HAZE
Bweekl_local_rn_similarRange>+55</week1_local_rn_similarRange> 1K} XY 24 "WiEd|=de
Bweekl_local_rn_minVal>40</week1_local_rn_minVal> 1FX XY 24 o SEEL)
Bweekl_local_rn_similarVal>40</week1_local_rn_similarVal> 1K} XY 24 o2 SHEH|x)
Hweek1_local_rn_maxVal>20</weekl_local_rn_maxVal> 1EX XY 24 o2 SHE(R2)
B/week_local_rn> 1F:X} X 2T AT 2
Bweek_local_rn> 2FEA XY ZTY AR
Bweek2_local_rn_normalYear>6.9</week2_local_rn_normalYear> 2FX XY 2 Wt
Hweek2_local_rn_similarRange>+60</week2_local_rn_similarRange> 2FK K|S 2 HEH| )|
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FX XY 24 o2 SHEE2)
Hweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2K XY 24 o2 EHEH[%)
Hweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2R XY 2 o2 SHEHL)
B/week_local_rn> 2FEA XY Y EBAER
Bweek_local_rn> 3FEA XY BT Y Ef AR
Bweek3_local_rn_normalYear>7.3</week3_local_rn_normalYear> 3FXF XY 24 WA
Hweek3_local_rn_similarRange> +55 < /week3_local_rn_similarRange> 3FA XY 2 HEH|=H
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 44 oy SEES)
Hweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FEX XY 24 0|2 SEH|Z)
Hweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FX XY L 02 SE(RS)
B/week_local_rn> 3FA XY ML EfABE
Bweek_local_rn> ATKE K| gL B AIE
Bweek4_local_rn_normalYear>12.1</week4_local_rn_normalYear> AZ=K K|S 2 W ZE
Hweek4_local_rn_similarRange>+50</week4_local_rn_similarRange> A=K K| 24 HEH|=-HQ
Hweek4_local_rn_minVal>30</week4_local_rn_minVal> AKX 24 02 SHEHL)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AFKE XY 24 O 2 ZE(H[)
Bweek4_local_rn_maxVal>30</week4_|local_rn_maxVal> AFK} XS L o2 2E(RS)
B/week_local_rn> 4Kt XY Z-HY TR
B/local_rn> deTY XY A5 E
Blocal_rn> Y XY A E
Blocal_rn_name> <![CDATA[ Z = A ]]></local_rn_name> 24 X9 g
Bweek_local_rn> 1A K|S ZH 2 Ef A=
Bweekl_local_rn_normalYear>6.8</weekl_local_rn_normalYear> 1FX XY 2 g
HBweek1_local_rn_similarRange>+60</week1_local_rn_similarRange> 1K XY 24 HEd|=He
Hweek1_local_rn_minVal>40</weekl_local_rn_minVal> 1EX XY 24 0|2 SHE(RS)
HBweekl_local_rn_similarVal>40</weekl_local_rn_similarVal> 1K XY 2 o 2 SHE(H|=x)
Hweek1_local_rn_maxVal>20</week1_local_rn_maxVal> 1EX XY 24 0|2 SHE ()




B/week_local_rn> 1A XY Z2dL OB E
Bweek_local_rn> 2F K XY 2= ak Ef AR}
Bweek2_local_rn_normalYear>6.9</week2_local_rn_normalYear> 2F K K|S 2 WGt
Hweek2_local_rn_similarRange>+50</week2_local_rn_similarRange> 2FK K|S A HEd| )Y
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FK XY 24 o2 =SHEE)
Bweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2FX XY 24 o2 EE(H|Z)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FK XY 24 o2 2E(ES)
B/week_local_rn> 2FEX XY Y BB E
Bweek_local_m> 3FA XY ZH L EfAF
Bweek3_local_rn_normalYear>7.4</week3_local_rn_normalYear> 3FX XY 24 WA
Bweek3_local_rn_similarRange> +55</week3_local_rn_similarRange> 3FAF XY 24 WA=
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 2 ole ESERS)
Bweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FXF XY 24 o2 =EHR)
Hweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FX XY 24 ol SE(RS)
B/week_local_rn> 3FA XY ZeHL EfABE
Bweek_local_rn> AFEX XY 2T Y B AR
Bweek4_local_rn_normalYear>11.7 </week4_local_rn_normalYear> AFK XS 24 WA
Hweek4_local_rn_similarRange>+50</week4_local_rn_similarRange> AFK K| Y 24 HEH| Q|
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AFK XY 24 02 SHERL)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AZTK} XY 24 02 EEH|)
Bweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFK XY 24 02 SHE(RS)
B/week_local_rn> AFX XY Y AT R
B/local_rn> Z2de XY OB E
Blocal_rn> PAREA L PN [S: l PN ESS
Hlocal_rn_name> <![CDATA[ Z 8 & ¥E ]]></local_rn_name> pAR PN fe: ]
Hweek_local_rn> 1A K| =ML EfIAIE
Bweek1_local_rn_normalYear>12.0</week1_local_rn_normalYear> 1K XY 24 HAZE
Hweekl_local_rn_similarRange>+45</week1_local_rn_similarRange> 1FXF XY 24 HEd|=HQ|
Hweek1_local_rn_minVal>40</weekl_local_rn_minVal> 1EX XY 24 02 SE(HS)
Hweek1_local_rn_similarVal>40</weekl_local_rn_similarVal> 1K XY 2 o 2 SHE(H[x)
Hweek1_local_rn_maxVal>20</week1_local_rn_maxVal> 1EX XY 24 02 SHE(H2)
B/week_local_rn> 1A XY 28 L A3 E
Bweek_local_rn> 2FXE K|S ZHY B AR
Bweek2_local_rn_normalYear>15.0</week2_local_rn_normalYear> 2F K K|S Z WHgt
Hweek2_local_rn_similarRange> +50</week2_local_rn_similarRange> 2F K XY 2 WA =)/
Bweek2_local_rn_minVal>30</week2_local_rn_minVal> 2FK XY A4 o2 SEE)
Hweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2R K| 2= Ol =EH|R)
Bweek2_local_rn_maxVal>30</week2_|local_rn_maxVal> 2F K XY 24 ol 2E(RE2)
B/week_local_rn> 2FEA XY ZTHY OB R
Bweek_local_rn> 3T XY 2 Y EfAE
Bweek3_local_rn_normalYear>13.8</week3_local_rn_normalYear> 3FX XY A W
HBweek3_local_rn_similarRange> +45</week3_local_rn_similarRange> 3FAF XY 2 HEd|=He
Hweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 24 0 SEES)
Bweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FAF XY A OB SEH|R)
Hweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FXL XY 24 o SE(RS)
B/week_local_rn> 3FX XY 2L BOATE
Bweek_local_rn> AFX XY 2T Y B AR
HBweek4_local_rn_normalYear>18.5</week4_local_rn_normalYear> AF K XS L HEg
Hweek4_local_rn_similarRange>+60</week4_local_rn_similarRange> AFK K|S 24 HUEH|=HQ
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AFKE XY 24 Ol 2 S2E (RS
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AZKE XY 24 O 2 SHEH|)
Bweek4_local_rn_maxVal>30</week4_|local_rn_maxVal> AFKE XY 24 Ol 2 SE(RS)
B/week_local_rn> AFK XY 2 Y BB E




B/local_rn> Zdd XY OB R
Blocal_rn> Y XY B AE
Hlocal_rn_name> <![CDATA[ LA - M|E - ZH LT ]]></local_rn_name> Y X9 ¥
Bweek_local_rn> 1FA XY B B AR
Bweek1_local_rn_normalYear>8.6</weekl_local_rn_normalYear> 1FA XY 2 HAZE
Hweek1_local_rn_similarRange>+55</week1_local_rn_similarRange> 1FXF XY 24 Ed|=HQ|
Bweek1_local_rn_minVal>40</week1_local_rn_minVal> 1FX XY 24 o 2EEL)
Bweekl_local_rn_similarVal>40</week1_local_rn_similarVal> 1A} XY 24 0|2 SEH|X)
Bweek1_local_rn_maxVal>20</weekl_local_rn_maxVal> 1K XY 244 o2 SE(RS)
B/week_local_rn> 1F=A XY =Y B3
Bweek_local_rn> 23K K| 2= Ef AR
Bweek2_local_rn_normalYear>8.3</week2_local_rn_normalYear> 2FK XS A A
Bweek2_local_rn_similarRange> +45</week2_local_rn_similarRange> 2FK XY 24 WEd| - Q
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2K XY 24 o2 EHEEL)
Bweek2_local_rn_similarVal>40</week2_|local_rn_similarVal> 2F X XY 24 o2 2E(H|=)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FK XY A4 o2 SE(R)
B/week_local_rn> 2FEA XY Y OB R
Bweek_local_rn> 3FA XY MY EfAE
Bweek3_local_rn_normalYear>11.1</week3_local_rn_normalYear> 3FAF XY A WA
Hweek3_local_rn_similarRange>+65 </week3_local_rn_similarRange> 3FX XY 24 HEH|=HQ
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FA XY A 0 SEEE)
Hweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FX XY 24 ol SEHX)
Bweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FAF XY A o2 SERS)
B/week_local_rn> 3FA XY 2L EfABE
Bweek_local_rn> AR K| 2 e EfIAIE
Bweek4_local_rn_normalYear>13.3</week4_local_rn_normalYear> AFKE K|S 2 HAZE
Bweek4_local_rn_similarRange> +60</week4_local_rn_similarRange> AFK XS 24 HEH| =
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AZK} XY 24 02 EHEEHS)
Hweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AKX 24 Ol SE(H|S)
Bweek4_local_rn_maxVal>30</week4_|local_rn_maxVal> AFKE XY 24 Ol 2 SHE(RS)
B/week_local_rn> AFK XY ZHY BB
B/local_rn> Y XY Az 8
Blocal_rn> 23 XY EfaAE
Blocal_rn_name> <![CDATA[ X £ ]]></local_rn_name> PAES S IaN fe: e}
Bweek_local_rn> 1A XY 2= EfAIE
Bweek1_local_rn_normalYear>9.2</week1_local_rn_normalYear> 1A XY 2 HAZE
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Bweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FX XY 2 oy SE(RS)
B/week_local_rn> 3FEA XY A=Y A3
Bweek_local_rn> AFX K|S 2= EfIAIR
Bweek4_local_rn_normalYear>13.1</week4_local_rn_normalYear> AZT=K K|S 24 WAk
Bweek4_local_rn_similarRange> +60</week4_local_rn_similarRange> AFK K|S 24 HEH|H Q|
HBweek4_local_rn_minVal>30</week4_local_rn_minVal> AKX XY 24 Ol 2 SERI)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> A=K XY 24 O 2 EHEH|)
Hweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFX} XS L5 02 Z2E(RS)
B/week_local_rn> AFK XY ZdY BB
B/local_rn> ZedY XY A3 E
Blocal_rn> Z=de XY EyA|E
Hlocal_rn_name> <![CDATA[ &3 - M2}l & ]]></local_rn_name> PAR S aPN - ]
Bweek_local_rn> 1F:XF X 2T A
Bweek1_local_rn_normalYear>11.0</week1_local_rn_normalYear> 1FX XY 24 WA
Bweek1_local_rn_similarRange>+50</week1_local_rn_similarRange> 1K XY 24 "WEd|=de
Bweekl_local_rn_minVal>40</week1_local_rn_minVal> 1FX XY 24 o SEEL)
Bweekl_local_rn_similarVal>40</week1_local_rn_similarVal> 1K} XY 24 o2 SHEH|x)
Bweekl_local_rn_maxVal>20</weekl_|local_rn_maxVal> 1K} XY 4 O SE(RS)
B/week_local_rn> 1A XY Z2eHL OB E
Bweek_local_rn> 2FEA XY ZTY B OAIR
Bweek2_local_rn_normalYear>15.0</week2_local_rn_normalYear> 2FX XY 2 Wt
Hweek2_local_rn_similarRange>+40</week2_local_rn_similarRange> 2FKF K|S 2 HEd| =
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FX XY 24 o2 SHEE2)
Bweek2_local_rn_similarVal>40</week2_|local_rn_similarVal> 2FK XY A4 o2 2EH|x)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FX XY 24 o2 2E(R2)
B/week_local_rn> 2FEA XY Y OB R
HBweek_local_rn> 3FAF XY ZeHak Ej IA|E
Bweek3_local_rn_normalYear>15.6</week3_local_rn_normalYear> 3FX XY 24 WA
Hweek3_local_rn_similarRange> +55 < /week3_local_rn_similarRange> 3FA XY 2 HEH|=H
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 44 oy BEES)
Hweek3_local_rn_similarVal>40</week3_local_rn_similarVal> 3FEX XY 24 0|2 SEH|Z)
Bweek3_local_rn_maxVal>40</week3_local_rn_maxVal> 3FX XY 24 oy SE(ES)
B/week_local_rn> 3FEA XY 2L A5 E
Bweek_local_rn> ATKE K| ZaH L B AIE
Bweek4_local_rn_normalYear>14.4</week4_local_rn_normalYear> AZ=K K|S 2 Wk
Hweek4_local_rn_similarRange>+50</week4_local_rn_similarRange> A=K K| Y 24 HEH|=HQ
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AFK XY 24 02 SHERL)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> A=K} XY 24 02 EEH|R)
Bweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFK XY 24 02 SHE(RS)
B/week_local_rn> AFX XY Y BB
B/local_rn> 20y XY AsR
Blocal_rn> Y XY A E
Hlocal_rn_name> <![CDATA[ M2t & ]]></local_rn_name> 25 X9 g
Bweek_local_m> 1=K XS B Ef AR
Bweek1_local_rn_normalYear>10.7 </week1_local_rn_normalYear> 1FX XY 2 g
HBweekl_local_rn_similarRange>+45</week1_local_rn_similarRange> 1K XY 24 HEd|=He
Hweek1_local_rn_minVal>40</weekl_local_rn_minVal> 1EX XY 24 0|2 SHE(HS)
Bweekl_local_rn_similarVal>40</weekl_local_rn_similarVal> 1A XY 2 O 2 SHE(H|=x)
Hweek1_local_rn_maxVal>20</week1_local_rn_maxVal> 1EX XY 24 02 SHE ()
B/week_local_rn> 1K XY 2L BOATE
Bweek_local_rn> 2FA XY BTy B AR
HBweek2_local_rn_normalYear>10.3</week2_local_rn_normalYear> 2K XY 24 WA
Hweek2_local_rn_similarRange>+35</week2_local_rn_similarRange> 2FK K|S A HEH| =/




Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FA XY 24 o2 SEE)
Bweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2FX XY 24 o2 EE(H|Z)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FK XY 24 ol 2E(E2)
B/week_local_rn> 2FEX XY Y BB E
Bweek_local_rn> 3FXF X ZHA B OAZ
Bweek3_local_rn_normalYear>14.3</week3_local_rn_normalYear> 3FX XY 2 WA
Bweek3_local_rn_similarRange> +55</week3_local_rn_similarRange> 3FAF XY 24 WA=
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FX XY 2 ol ESERS)
Bweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FXF XY 24 ol =EHR)
HBweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FAF XY A O SE(RS)
B/week_local_rn> 3FX XY A AT E
Bweek_local_rn> 4R XY Y EfAIEf
Bweek4_local_rn_normalYear>12.0</week4_local_rn_normalYear> AFK K|S 24 HAZE
Hweek4_local_rn_similarRange>+50</week4_local_rn_similarRange> AZTK} K| 24 HEH|=HQ
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AFK XY 24 02 SHERL)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AZK} XY 24 O 2 EEH|R)
Bweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFK XY 24 Ol 2 SHE(RS)
B/week_local_rn> AFX XY Y BlAZR
B/local_rn> Z2de XY OB E
Blocal_rn> PAREA L PN S: i PN ESS
Hlocal_rn_name> <![CDATA[ £At « 4t « ZALE 1]> </local_rn_name> Y X9 9y
Bweek_local_rn> 1A K|S 2L EfAE
Bweek1_local_rn_normalYear>10.1</weekl_local_rn_normalYear> 1T XY 24 HAZE
Hweekl_local_rn_similarRange>+50</week1_local_rn_similarRange> 1FXF XY 24 HEd| =2
Bweek1_local_rn_minVal>40</week1_local_rn_minVal> 1FA XY 24 02 SEES)
Bweek1_local_rn_similarVal>40</week1_local_rn_similarVal> 1FXF XY 24 o2 SEH[=x)
Bweek1_local_rn_maxVal>20</weekl_local_rn_maxVal> 1K} XY 24 o2 SE(RS)
B/week_local_rn> 14 XY 28 Y A3 E
Bweek_local_rn> 2FEXF K|S ZHY B AR
Bweek2_local_rn_normalYear>14.0</week2_local_rn_normalYear> 2F K K|S d WEHgt
Hweek2_local_rn_similarRange> +45 < /week2_local_rn_similarRange> 2F K K|S 2 WA =)
Bweek2_local_rn_minVal>40</week2_local_rn_minVal> 2FX XY A4 o2 SEE)
Hweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2R XY 2= ol =EH|R)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FK XY 24 o2 SE(R2)
B/week_local_rn> 2FEA XY ZTHY OB R
Bweek_local_rn> 3T XY 2 Y EfAAE
Bweek3_local_rn_normalYear>15.1</week3_local_rn_normalYear> 3FX XY A W
Hweek3_local_rn_similarRange>+60</week3_local_rn_similarRange> 3FX XY 24 HEH|=HQ|
Hweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FEX XY 24 0 SE(RE)
Bweek3_local_rn_similarVal>40</week3_local_rn_similarVal> 3FXF XY 24 o2 SEH)
Hweek3_local_rn_maxVal>40</week3_local_rn_maxVal> 3FEX XY 24 o SE(RS)
B/week_local_rn> 3FEX XY 2L BOATE
Bweek_local_rn> AFX XY ZTY EfIAIR
HBweek4_local_rn_normalYear>13.8</week4_local_rn_normalYear> AF K XS A HEg
Hweek4_local_rn_similarRange>+50</week4_local_rn_similarRange> AZK K|S9 24 HUEH|=HQ
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AFK XY 24 Ol 2 S2E (RS
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AFK}F XS L5 Ol ZE(H%)
Bweek4_local_rn_maxVal>30</week4_|local_rn_maxVal> AFKE XY 24 Ol 2 SE(RS)
B/week_local_rn> AFK XY 2 Y OB RE
B/local_rn> Y XY 138
Blocal_rn> Y XY Ef AR
Blocal_rn_name> <![CDATA[ Ci 7+ - AAEE 11> </local_rn_name> AR SLIaPNfe: ]
Bweek_local_rn> 1A K|S 2T Y EfAE




Bweek1_local_rn_normalYear>8.4</weekl_local_rn_normalYear> 1A XY 2 HAZE
Hweek1_local_rn_similarRange>+65</week1_local_rn_similarRange> 1FXF XY 24 Ed| =2
Bweek1_local_rn_minVal>40</week1_local_rn_minVal> 1FX XY 24 o 2EEL)
Bweek1_local_rn_similarVal>40</week1_local_rn_similarVal> 1A XY 24 0| SEH|X)
Bweek1_local_rn_maxVal>20</weekl_local_rn_maxVal> 1K XY 244 o2 SE(RS)
B/week_local_rn> 1FA XY =Y B3
Bweek_local_rn> 2K K| 2= Y Ef AR
Bweek2_local_rn_normalYear>9.7 </week2_local_rn_normalYear> 2FK XS A A
Bweek2_local_rn_similarRange> +40</week2_local_rn_similarRange> 2F K XY 24 HEdH| -
HBweek2_local_rn_minVal>40</week2_local_rn_minVal> 2K XY 24 o2 EHEEL)
Bweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2FK XY 24 o2 =EH|R)
HBweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2F K XY 24 o2 2E(E2)
B/week_local_rn> 2K XY 2y Ef AT E
Bweek_local_rn> 3FEA XY B Y Ef AR
Bweek3_local_rn_normalYear>10.5</week3_local_rn_normalYear> 3FA XY A WA
Hweek3_local_rn_similarRange>+60</week3_local_rn_similarRange> 3FXF XY 24 HEH|=HQ
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FA XY A5 O SEEE)
Bweek3_local_rn_similarVal>50</week3_local_rn_similarVal> 3FX XY 44 o2 SEH[)
Bweek3_local_rn_maxVal>30</week3_local_rn_maxVal> 3FAF XY A o2 SERS)
B/week_local_rn> 3FA XY 2L EfABE
Bweek_local_rn> AR K| 2 e EfIAIE
Bweek4_local_rn_normalYear>12.3</week4_local_rn_normalYear> AR K|S 2 HAZE
Bweek4_local_rn_similarRange> +45</week4_local_rn_similarRange> AFK K|S 24 HEH| =
Bweek4_local_rn_minVal>30</week4_local_rn_minVal> AZK} XY 24 02 EHEEHS)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> AFK XY 24 Ol 2 ZHEH[X)
Bweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AZTK} XY 24 02 EHE(RS)
B/week_local_rn> AFK XY ZHY ElAZE
B/local_rn> dETY XY 238
Blocal_rn> 23 XY Ef AR
Blocal_rn_name> <![CDATA[ M| & ]]> </local_rn_name> ARSI IaPNfe: e}
Bweek_local_rn> 1A K| 2T Y EfAE
Bweek1_local_rn_normalYear>13.8</week1_local_rn_normalYear> 1A XY 2 BAZE
Hweekl_local_rn_similarRange> +50</week1_local_rn_similarRange> 1FX XY 2 Ed| ="
Bweek1_local_rn_minVal>30</week1_local_rn_minVal> 1FX XY 24 oe SEES)
Hweek1_local_rn_similarVal>40</week1_local_rn_similarVal> 1EX XY 24 0|2 SHE(H|Z)
Bweek1_local_rn_maxVal>30</weekl_local_rn_maxVal> 1FX XY 24 oe SE(ES)
B/week_local_rn> 15 X9 2+HY EfIASE
Bweek_local_rn> 2K XS B Y B A
Bweek2_local_rn_normalYear>25.8</week2_local_rn_normalYear> 2F K XS A WA
Hweek2_local_rn_similarRange>+50</week2_local_rn_similarRange> 2FK XY 2 HEd| e
Hweek2_local_rn_minVal>40</week2_local_rn_minVal> 2R XY 2 o2 SHEEL)
Bweek2_local_rn_similarVal>40</week2_local_rn_similarVal> 2K XY 24 o2 EHEH[%)
Bweek2_local_rn_maxVal>20</week2_|local_rn_maxVal> 2FK XY 24 o2 EHERS)
B/week_local_rn> 2FA XY 2 AT E
Bweek_local_rn> 3FA K| Y Ef AR
Bweek3_local_rn_normalYear>22.5</week3_local_rn_normalYear> 3FAF XY A HAZS
Hweek3_local_rn_similarRange>+45 </week3_local_rn_similarRange> 3FA XY 2 WEH|=HQ
Bweek3_local_rn_minVal>20</week3_local_rn_minVal> 3FAL XY A OB SEES)
HBweek3_local_rn_similarVal>40</week3_local_rn_similarVal> 3FA} XY A4 02 =EH|R)
Bweek3_local_rn_maxVal>40</week3_|local_rn_maxVal> 3FAF XY A OB SE(RS)
B/week_local_rn> 3FEX} XY 2T AT E
Bweek_local_m> 4R XY ZTY Ef AR
Bweek4_local_rn_normalYear>19.5</week4_local_rn_normalYear> AZK K|S 2 Wk




Bweek4_local_rn_similarRange> +45</week4_local_rn_similarRange> AFK K|S 24 HEd| -
HBweek4_local_rn_minVal>30</week4_local_rn_minVal> AFK XY 24 02 SERI)
Bweek4_local_rn_similarVal>40</week4_local_rn_similarVal> A=K XY 24 O 2 EHEH|)
Hweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFX} XS L5 02 Z2E(RS)
B/week_local_rn> AFX XY ZY BB E
B/local_rn> dedY XY A3 E
Blocal_rn> Z=de XY Ef2AIE
Hlocal_rn_name> <![CDATA[ OottHE = . S| = 11> </local_rn_name> Zedak X o
Bweek_local_m> 1A K| 2L Ef A Z
Bweekl_local_rn_normalYear>2.7 </week1_local_rn_normalYear> 1FX XY 24 W
Bweek1_local_rn_similarRange> +55</week1_local_rn_similarRange> 1K XY 24 HEd|sde
Bweek1_local_rn_minVal>30</week1_local_rn_minVal> 1FX XY 24 02 SE (™)
Bweek1_local_rn_similarVal>40</week1_local_rn_similarVal> 1FXF XY 24 o2 2EH|=)
Hweek1_local_rn_maxVal>30</week1_local_rn_maxVal> 1FX XY 24 ol &2 SHE(R2)
B/week_local_rn> 1A XY Z2eHL OB E
Bweek_local_rn> 2FEA XY ZTY B OAIR
Bweek2_local_rn_normalYear>4.2</week2_local_rn_normalYear> 2FX XY 2 WGt
Hweek2_local_rn_similarRange>+50</week2_local_rn_similarRange> 2FK K|S 2 WA=
Bweek2_local_rn_minVal>50</week2_local_rn_minVal> 2FX XY 24 o2 SHEE2)
Bweek2_local_rn_similarVal>30</week2_|local_rn_similarVal> 2FKF XY A4 o2 EH|x)
Bweek2_local_rn_maxVal>20</week2_local_rn_maxVal> 2FK XY 24 ol SHE(R2)
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B/week_local_rn> 3FX XY A AT E
Bweek_local_rn> 4R XY Y EfAIEf
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Bweek4_local_rn_minVal>40</week4_local_rn_minVal> A=K XY 24 02 SHEES)
Bweek4_local_rn_similarVal>30</week4_local_rn_similarVal> AR XY 24 0|2 SHEH|R)
Bweek4_local_rn_maxVal>30</week4_local_rn_maxVal> AFK XY 24 02 SHE(RHS)
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